Set A, pages 202-203 ) , k Set D, pages 210-211
IMTERVENTION

Find4 + —g Use a number line, Remember that when the divisor is Find 6= + 1— Estimate. 6% + 'S% ~6 Remember to estimate before

less than 1, the quotient is larger than solving the problem so you can check

- ; : _— Write the mixed numbers - ;
Divide 4 into -‘g- parts. the dividend. as improper fractions. the reasonableness of your answer.

Then write the problemas a Find each quotient.

multiplication problem using ;
the reciprocal of the divisor 1. 6 % . é% 3 9.2 _%;
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Simplif. Then, multiply.
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3835& &52.38
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5735 close to the estimate of 6 5. 3% L

Set B, pages 204-207

SetE, pages 212-213

Find4 + %, Remember that the product of a
number and its reciprocal is 1. Remember that you can use inverse
1. 75 = % .12 « %; ‘} reéa‘iiéﬂships and @mg@?‘téeg@f
Subtract 4:3; from both sides. equality to solve each equation.

Dividing by a fraction is the same as multiplying
by its reciprocal.

4 - 8 s 13 Use the reciprocal of the 3,
T 13 b divisor to rewrite the problem.
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Look for commeon
factors and simplify.
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Rewrite the problem as a SetF pages214-215

multiplication problem.
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If the pattern continues, how tall will the plantsbe  Remember to look for a pattern
Simplify. Then, multiply. _atthe end of 5 weeks? by finding relationships between
; numbers, figures, or expressions.
| Week | 2 ] “ 5 i Find the missing numbers.
SetC, pages 208-209 | Plont Growth fin) | 21 | 2 > 2 3 6 10
~ : 7 ar

Estimate 3% - 8% using rounding or Remember that you can estimate

, . 1. : 1 2 ~
compatible numbers. using campgtibie ﬁumbers, ; The plants grew 2»52: inches during Week 1. ?33—, %4-3;, 16,

7. 4.6l L 51 o1t gt Checkthe patt
Eﬁ . 83% 3.9 Round to the nearest whole 1. 9 16 2. 24’%0 ' 63 22 : 22 %At 22 . ?2 gmex,veekfgzn?;
> 4 number. % < % and % > % 5 5 ; ; . 1
3%and8-§—roum§m3and9. +87 4. 27—:~3—§ ; 7_§+2§:’§0; ‘g(}+2§: ';232. Use the pattern to

solve the problem.

5. 363 + 122 6. 311+ 42 : |
The plants will be 125in.at the end of 5 weeks.




